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HARTNELL COMMUNITY COLLEGE DISTRICT 

AP 3430 Prohibition of Harassment 

References:   Education Code Sections 212.5; 44100; 66281.5; Title1 
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violence refers to physical sexual acts perpetrated against a person’s will or where a 
person is incapable of giving consent due to the victim’s use of drugs or alcohol. An 
individual also may be unable to give consent due to an intellectual or other disability. 

 
Visual or Written: The display or circulation of visual or written material that degra
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learning or work environment, unreasonably interfere with an indiv
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severity of the conduct, whether the conduct is humiliating or physically threatening, 
and whether the conduct unreasonably interferes with an individual's learning or work. 

 
Consensual Relationships 
Romantic or sexual relationships between supervisors and employees or between 
administrators, faculty or staff members and students are discouraged. There is an inherent 
imbalance of power and potential for exploitation in such relationships. A conflict of interest 
may arise if the administrator, faculty or staff member must evaluate the student’s or 
employee’s work or make decisions affecting the employee or student. The relationship may 
create an appearance of impropriety and lead to charges of favoritism by other students or 
employees. A consensual sexual relationship may change, with the result that sexual conduct 
that was once welcome becomes unwelcome and harassing. In the event that such 
relationships do occur, the District has the authority to transfer r1c -0.005 Tw 0.22Td
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